
COS 488 - Homework 7 - Question 2

Matt Tyler

I have copied my code below:
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Since these are images and are therefore not executable, I have also copied the histograms below. (These
are not the histograms directly output by this code, but rather ones made to look nicer with axis values and
stuff. The data did, of course, come from this code.) The X-axis has been reduced so that only data with
positive frequency is listed. Each simulation was conducted 10,000 times. The X-axis is the number of balls
remaining in chamber A, and the Y-axis is the frequency.
This is the data with 103 steps:

This is the data with 104 steps:
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This is the data with 105 steps:
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